Lycée de la Communication, METZ – Food consumption & poor families – Comp. linguistiques- correction

1. All the following figures are in the article. Read them aloud and say what they correspond to :
a. £ 24.50 = twenty-four pounds fifty
b. £1.88 = one pound eighty-eight
c. 4 p = four p (p se prononce au singulier ou se dit pence)
d. 4 % = four percent 
e. 100,000 = one / a hundred thousand
f. 2006 = two hundred (and) six
2. Circle in red the sentences in the Simple past tense and in green the ones in the Present perfect. 
a. Families have cut their consumption of fresh vegetables. 
b. A decade ago, the average household continued to buy about four portions per person
c.  In 2011, Mary Creagh said a debate on food was urgently needed,
d.  The average school dinner has gone up 5p in the past year
e. Farmers have been among the most vocal proponents.
3. Why do you have to use the Simple past tense in the sentences circled in red? Because we talk about past events, the action is finished and there is a finished time word or date.
4. Fill in the following table
	
	Simple past
	Present perfect

	a.
	They purchased
	They have purchased

	b.
	They declined
	They have declined 

	c.
	They went
	They have gone down 

	d.
	They broke 
	They have broken

	e.
	They showed
	They have shown



Why do you have to pay particular attention to c., d. & e.? Because those are irregular verbs and their forms in the Simple past tense is not the same as in the Present perfect
5. Choose the right verbal form each time. 

a. In the past, households bought / have bought 2.7 portions of fruit and veggies a day. 
b.  Since then, the average household bought / has bought  less than 2.1 portions. 
c. The deterioration of diet was / has been highlighted in a parliamentary debate last Monday.
d. Indeed, purchases of fresh fruit and vegetables declined / have declined between 2013  and 2017.
e. The rates declined / have declined over the past five years. 

4. Now complete the blanks, choose the right tense, Simple past or Present perfect.

a. Prices have gone up over the past months. In fact, they started going up just before Christmas.
b. My uncle has been a vegan for some time now. If I remember, he stopped eating meat and animal products five years ago. 
c. I met Mary Creagh in 2012 so we have known each other for more than eight years now. 
d. She arrived at her office at 8:30 but she hasn’t written her report on food consumption yet. 
e. When did you get her email? Have you answered it yet ? 
